
21. According to Big Bang Theory, our universe sprang into existence as „ 
singularity around 13.7 billion years ago. Who proposed Big Bang 
Theory? 
बिग िैंग थ्योरी के अनुसार, हमारा ब्रहमाांड लगभग 13.7 अरि साल पहले 
विलक्षणता के रूप में अस्ततत्ि में आया था। बिग िैंग थ्योरी का प्रतताि ककसने 
दिया?
(a) E George Lamantor / ई जॉजज लमैांटोर
(b) Galilio / गैलीललयो
(c) Euclid / यूस्ललड
(d) Aristota / अररतटोटा



22. The Earth without rotational movement would result into
घूणी गतत के बिना पथृ्िी का पररणाम होगा

1. no Sun-rise and Sun-set  /  कोई सयूज उिय और सयूाजतत नहीां
2. no occurrence of day and night cycle. 

दिन और रात के चक्र की कोई घटना नहीां।
3. only one season. 

केिल एक सीजन।
Select the correct answer using the codes given below 
नीचे दिए गए कूट का प्रयोग कर सही उत्तर चुतनए
(a) Only 1 
(b) 1 and 2 
(c) 2 and 3 
(d) Al of these



23. A very small, hot star, the last stage in the life cycle of a star like the 
Sun is 
एक िहुत छोटा, गमज तारा, सयूज जसेै तारे के जीिन चक्र की अांततम अितथा है
(a) red giant / लाल विशाल
(b) white dwarf / व्हाइट द्िार्ज
(c) Supernova  / सपुरनोिा
(d) black hole / ब्लकै होल



24. The recent experiments at the Large Hadron Collider (LHC), built by 
the European Organisation for Nuclear Research (CERN) is
यूरोवपयन ऑगजनाइजेशन र्ॉर न्यूस्ललयर ररसचज (सीईआरएन) द्िारा तनलमजत लाजज 
हैड्रॉन कोलाइडर (एलएचसी) में हाल के प्रयोग हैं
(a) in United States of America / सांयुलत राज्य अमेररका में
(b) under the Atlantic Ocean / अटलाांदटक महासागर के नीचे
(c) beneath the Franco-Swiss border / फ्रें को-स्तिस सीमा के नीचे
(d) in United Kingdom  / यूनाइटेड ककां गडम में



25. A storm of hot atoms which dissipates from the photosphere of the 
Sun, overcomes its gravity and goes into the outer space, is known as 
गमज परमाणओुां का एक तूर्ान जो सयूज के प्रकाशमांडल से अलग हो जाता है, 
अपने गरुुत्िाकर्जण पर कािू पाता है और िाहरी अांतररक्ष में चला जाता है, लया 
कहलाता है?
(a) solar flares  / सोलर फ्लेयसज
(b) sun spots / धूप के धब्िे
(c) solar fire / सौर अस्नन
(d) None of these / इनमें से कोई नहीां



26. Which one of the following is an object with such a strong 
gravitational field that even light cannot escape from its surface? 
तनम्नललखित में से कौन-सा एक ऐसा मजिूत गरुुत्िाकर्जण क्षेत्र िाली िततु है 
कक प्रकाश भी इसकी सतह से नहीां िच सकता है?
(a) Neutron Star / न्यूट्रॉन तटार
(b) White Dwarf / व्हाइट द्िार्ज
(c) Black Hole / ब्लकै होल
(d) Supernova Star / सपुरनोिा तटार



27. The only planet whose period of rotation is longer than the period of 
revolution around the Sun is 
एकमात्र ऐसा ग्रह स्जसका पररक्रमण काल ​​सयूज के चारों ओर पररक्रमण काल ​​से 
अधधक है
(a) Mercury  / िुध
(b) Venus / शुक्र
(c) Mars / मांगल ग्रह
(d) Neptune / नेपच्यून



28. Consider the following statements 
तनम्नललखित कथनों पर विचार करें
1. The part of the Sun that we can see is known as Photosphere. 

सयूज के स्जस भाग को हम िेि सकते हैं उसे प्रकाशमांडल कहते हैं।
2. The outer most part of the Sun, which is visible only at the time of 

a solar eclipse, is known as Corona. / सयूज का सिसे िाहरी भाग, जो 
केिल सयूज ग्रहण के समय ही दििाई िेता है, कोरोना के नाम से जाना जाता है।

Which of the statements given above is/are correct? 
ऊपर दिए गए कथनों में से कौन-सा/से सही है/हैं?
(a) Only 1 
(b) Only 2 
(c) Both 1 and 2 
(d) Neither 1 nor 2 



29. Who amongst the following was the first to state that the earth 
was spherical?
तनम्नललखित में से सिसे पहले ककसने कहा था कक पथृ्िी गोलाकार है?
(a) Aristotle / अरततू
(b) Copernicus / कॉपरतनकस
(c) Ptolemy / टॉलेमी 
(d) Strabo / तटै्रिो



30. If the stars are seen to rise perpendicular to the horizon by an 
observer, he is located on the:
यदि ककसी पे्रक्षक को तारे क्षक्षततज के लांिित ्ऊपर उठते हुए दििाई िेते हैं, तो 
िह स्तथत होता है:

(a) Equator  / भमूध्य रेिा
(b) Tropic of Cancer / ककज  रेिा
(c ) South Pole / िक्षक्षणी ध्रुि
(d) North Pole / उत्तरी ध्रुि



31. Why do we have a leap year every four years? 
हमारे पास हर चार साल में एक लीप िर्ज लयों होता है?

(a) The Earth gets shifted out of orbit every four years 
पथृ्िी हर चार साल में कक्षा से िाहर हो जाती है

(b) The revolution slows down a little once every four years 
क्राांतत हर चार साल में एक िार थोडी धीमी हो जाती है

(c) The length of a year is not an integer number of days 
एक िर्ज की लांिाई दिनों की एक पूणाांक सांख्या नहीां है

(d) It is a convention / यह एक सम्मेलन है



32. Which one of the following statements is correct with reference to our 
solar system?
हमारे सौर मांडल के सांिभज में तनम्नललखित में से कौन सा कथन सही है?
(a) The earth is the densest of all the planets in our solar system

पथृ्िी हमारे सौरमांडल के सभी ग्रहों में सिसे सघन है
(b) The predominant element in the composition of earth is silicon

पथृ्िी की सांरचना में प्रमिु तत्ि लसललकॉन है
(c) The sun contains 75 percent of the mass of the solar system

सौरमांडल के द्रव्यमान का 75 प्रततशत भाग सयूज में समादहत है
(d) The diameter of the sun is 190 times that of the earth

सयूज का व्यास पथृ्िी से 190 गनुा है



33. Which of the following statements about Great Circles are correct? 
गे्रट सकज ल के िारे में तनम्नललखित में से कौन सा कथन सही है?

1. Great Circle is an imaginary circle which divides the Earth into two 
equal hemispheres. / गे्रट सकज ल एक काल्पतनक ितृ्त है जो पथृ्िी को िो 
िरािर गोलाद्जधों में विभास्जत करता है।

2. Equator is the only Great Circle, which can be drawn on the Earth’s 
surface.  / भूमध्य रेिा ही एक ऐसा िहृि ितृ्त है, स्जसे पथृ्िी की सतह पर िीांचा जा सकता 
है।

3. An arc of a great Circle on the surface of the Earth marks the shortest 
distance between two points on the Earth.  पथृ्िी की सतह पर एक िड े
ितृ्त का एक चाप पथृ्िी पर िो बि ांिओुां के िीच की सिसे छोटी िरूी को िशाजता है।

Select the correct answer using the codes given below 
(a) 1 and 2 (b) 1 and 3 (c) 2 and 3 (d) All of these 



34. Which of the following planets is tilted at 90°, so it almost rolls 
around the Sun and hence, it is also called as Lying planet? 
तनम्नललखित में से कौन सा ग्रह 90° पर झकुा हुआ है, इसललए यह लगभग 
सयूज के चारों ओर चलकर लगाता है और इसललए, इसे झठू िोलने िाला ग्रह भी 
कहा जाता है?
(a) Venus  / शुक्र
(b) Jupiter / िहृतपतत
(c) Uranus / अरुण ग्रह
(d) Neptune  / नेपच्यून



35. Consider the following statements:
तनम्नललखित कथनों पर विचार करें:

1. Total land area of earth is approximately 1475 lakh square kilometres.
पथृ्िी का कुल क्षेत्रर्ल लगभग 1475 लाि िगज ककलोमीटर है।

2. Ratio of land area to water area of earth is approximately 1:4.
पथृ्िी के जल के्षत्र से भलूम के्षत्र का अनुपात लगभग 1:4 है।

3. Maximum percentage of earth’s water is in the Pacific Ocean.
पथृ्िी पर जल का अधधकतम प्रततशत प्रशाांत महासागर में है।

Which of the statements given above is/are correct?
(a) 1 and 3
(b) 2 and 3
(c) 1 only
(d) 3 only



36. Through which one of the following groups of countries does the Equator 
pass?
भमूध्य रेिा तनम्नललखित िेशों के ककस समहू से होकर गजुरती है?
(a) Brazil, Zambia and Malaysia

ब्राजील, जास्म्िया और मलेलशया
(b) Colombia, Kenya and Indonesia

कोलांबिया, केन्या और इांडोनेलशया
(c) Brazil, Sudan and Malaysia

ब्राजील, सडूान और मलेलशया
(d) Venezuela, Ethiopia and Indonesia

िेनेजएुला, इधथयोवपया और इांडोनेलशया



37. Which one of the planets is known as „morning star as well as 
evening star because it is the first to appear in the evening and that 
last to disappear in the morning?
इनमें से कौन सा ग्रह 'सिुह का तारा' और 'शाम का तारा' भी कहा जाता है 
लयोंकक यह सिसे पहले शाम को दििाई िेता है और जो सिसे आखिरी में सिुह 
गायि हो जाता है?
(a) Jupiter / िहृतपतत
(b) Mars / मांगल ग्रह
(c) Mercury / िुध
(d) Venus  / शुक्र



38. Consider the following countries:
तनम्नललखित िेशों पर विचार करें:

1. Australia / ऑतटे्रललया
2. Namibia  / नामीबिया
3. Brazil / ब्राजील
4. Chile / धचली
Through which of the above does the Tropic of Capricorn pass?
(a) 1 only
(b) 2, 3 and 4
(c) 1, 2 and 3
(d) 1, 2, 3 and 4



39. Which of the following statements regarding the duration of day and night is 
correct? 
दिन और रात की अिधध के सांिांध में तनम्नललखित में से कौन सा कथन सही है?
(a) Difference is least near the equator and progressively increases away from it. 

भूमध्य रेिा के पास अांतर कम से कम होता है और उत्तरोत्तर इससे िरू होता जाता है।
(b) Difference is maximum at the Equator and progressively deceases away from 

it. 
भूमध्य रेिा पर अांतर अधधकतम होता है और उत्तरोत्तर इससे िरू होता जाता है।

(c) Difference is least at the Tropics and progressively increases towards the 
Equator and Poles. 
कदटिांधों पर अांतर कम से कम होता है और भूमध्य रेिा और धु्रिों की ओर उत्तरोत्तर िढ़ता 
जाता है।

(d) Difference is maximum at the Tropics and progressively decreases towards 
the equator and poles. 
अांतर कदटिांधों पर अधधकतम होता है और भूमध्य रेिा और धु्रिों की ओर उत्तरोत्तर घटता 
जाता है।



40. If the Earth’s axis were perpendicular to the plane of its orbit, which 
one among the following would not have happened? 
यदि पथृ्िी की धुरी उसकी कक्षा के तल के लांिित होती, तो तनम्नललखित में से 
लया नहीां होता?
(a) The North pole will always lie in dark 

उत्तरी ध्रुि हमेशा अांधेरे में रहेगा
(b) Days and nights would be equal throughout the year 

साल भर में दिन और रात िरािर होंगे
(c) No change of seasons will take place 

ऋतुओां का कोई पररितजन नहीां होगा
(d) The Sun will be perpendicular to the equator 

सयूज भमूध्य रेिा के लांिित होगा



21. (A) 31. (C)

22. (D) 32. (A)

23. (B) 33. (B)

24. (C) 34. (C)

25. (A) 35. (A)

26. (C) 36. (B)

27. (B) 37. (D)

28. (C) 38. (D)

29. (A) 39. (A)

30. (A) 40. (A)


